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100,000 * 500CH 50,000
OLU=YIIH EHAHMNH & 2 M HIIS A
2l Hl 100,000 * 80= 8,000
OYUH=sYIIH T2 KX 22l
602,500 ~ 12€ 7,230
OLU=LEINH HAS A=H| 6,854
O e 1,498& = 22,0004 2,996
O&e 1,286 = 3,0004 3,858
OYU=INA HotHE NHXF ASHI(ER)
1,286 * 5004 =~ 9Uy 5,787
OLU=sLYIH SHEHRA S 8|
70,000& * 19 1,330
OUUWSsAIIH &L 222 ItE =22 (3tE
Jl & xH) 500,000 ~ 12€ 6,000
OUNSAINH ZSHZE 2 (NA LI MOIRA0| A
) 200,0002 » 600CH 120,000
206 M = Hl 255,000 85,000 170,000
01 X2 H| 255,000 85,000 170,000
O=gIlIAH LHEL =2l 105,000
>l 88 50,000 = 2,000& 100,000
292 2L 10,0008 * 500& 5,000
O=sgIIH =328 83+ 140,000
OK2ER(F2I18E2 6008)
50,000 = 2,400& 120,000
ORI (A2 2008)
10,000& * 2,000& 20,000
OsgIIH =3 &¥ls 2
20,0008 = 500 10,000
401 AIEHIZ 2 0HY| 104,000 114,000 A 10,000
01 A& H| 104,000 114,000 A 10,000
OXolsgIIHE2A HAEHS WHZA
17,500,000 = 1JH A&~ 17,500
OsUIHBSE 22 A HIEUO EXNZ2AHS,A
2 QA 6,500,000& = 5JH A&~ 32,500
O=g&elA oLl 2tE AXIZ2AHT7IHA)
6,000,000& = 7JH 24 42,000
OsYIIHZSe2elA CCTV X ZAHBIHA)
1,500,000 * 8 12,000
405 XHA&HF S HI 1,135,280 564,500 570,780
01 XAt 2 FF S| 1,135,280 564,500 570,780
ogle sgIlAH F¢ 1,135,280
O4a ™I (THAN) 4,500,000& = 2CH 9,000




SN 59
PSEL
el

Jl&dle X0 D

s
SYIAHB YL

Al

11

= - SHE|
SN HH-S(BN) - MBAY - B e 2
o6& I (HA) 5,500,0009 * 1CH 5,500
OEHEHE ZE2II(HA)
2,500,0002 * 2CH 5,000
OXtZ=A 2E2I(HA)
20,000,0002 * 6CH 120,000
OZ20HIN(HB0H)(THA)
18,000,0002 * 9CH 162,000
Oos#22 I (A8)(UHH)
3,600,000 * 10CH 36,000
OSHAEIN(ZT)(UAH) 620,0008  7CH 4,340
OFZAMEI(4Z)(CHAI)
25,000,000 * 4CH 100,000
OTEIFXITHAN DI (CHA) 9,800,000 * 4CH 39,200
OsH=2 A (H) 30,000,0002 * 9CH 270,000
OEHHE EIHIAZI(HA)
8,500,000&4 * 6CH 51,000
OF2I1(=2H)(HA) 4,510,0002 * 4CH 18,040
O30 I HMAII(THAN)
7,600,000 * 2CH 15,200
O=S8XAII (M) 5,000,000 * 7CH 35,000
OS=HAELI(0IAEDN)(THA)
1,000,000 * 5CH 5,000
OX =A@ (A7) 60,000,000 * 2CH 120,000
Oozels&Ul (XIAX) (AN
35,000,0002 * 4CH 140,000
E XS AR & A 306,576 699,528 A 392,952
= 88,288
Xl 65,000
Al 153,288
sd)|ls M2DS X (HFE) 35,000 45,000 A 10,000
= 17,500
Al 17,500
101 @124l 12,070 8,947 3,123
=2 6,035
Al 6,035
04 JIZtRI2E2XNEES 12,070 8,947 3,123
OJIxz¥=)2nsg 29 g8
60,2408 * 1Y * 262 * 7¥ 10,964
= 5,482
Al 5,482
OJIZtHZ22X B2 (MYHRHZ) 1,106
orABEEZ 10,964,000 * 3.06% 336
= 168
Al 168
ozl 336,000 * 6.55% 23
=2 12




FA: sgllsdH XNI= D
M =HXA0=
Sel sETESAYHN EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O=2d3 10,964,000& * 4.5% 494
= 247
Al 247
OneE:Ed 10,964,000& * 1.5% 165
= 82
Al 83
O&NEE 10,964,0002 * 0.8% 88
= 44
Al 44
201 2yt 2 Y| 16,130 26,953 A 10,823
= 8,065
Al 8,065
01 At 22l 16,130 26,953 210,823
OJIx=gsllsus M2 (13) 3,330
OPIE= 250,000& = 1AI2F = 9H 2,250
= 1,125
Al 1,125
O=Jt 120,000& * 1Al2F = 9H 1,080
= 540
Al 540
OJIzgsllzsnsg 2Ax(22) 2,610
ol 130,000& = 1Al2F = 9YH 1,170
= 585
Al 585
Ot 80,000& = 2AI2t = 9H 1,440
= 720
Al 720
OJIxzg=sll2us 7Y
10,0002 * 850% 8,500
= 4,250
Al 4,250
OJIx=gsllzsns % MH
70,0002 = 200H 1,400
= 700
Al 700
OJIZLE=sI2ns AIRESE 22 290,000 290
= 145
Al 145
301 L2 A= 6,800 9,100 A 2,300
= 3,400
Al 3,400
09 SAAHIEA S 6,800 9,100 A 2,300
OJI=g=slIlsns =424 8,0008 * 850 6,800
= 3,400
Al 3,400
New UEE oM A AB(XE) 50,000 50,000 0
= 25,000
Al 25,000




M- =8 s (3) - HRAMY - BES il HlnE2
402 BI2FX=01 M 50,000 50,000 0
2 25,000
Al 25,000
02 QI EASEZ (01X ) 50,000 50,000 0
Ox=Y AEY M2 AHAH(HD)
50,000,000& * 1JH A 50,000
= 25,000
Al 25,000
S| ARDS ) 56,000 14,000 42,000
2 28,000
Al 28,000
201 L2 | 6.020 6,440 £ 420
2 3,010
Al 3,010
01 At 22l 6,020 6,440 A 420
O4dzsE = ns 2ME(23) 320
ol 120,000& » 1A[2 = 1H 120
= 60
Al 60
Ot 100,000& * 2AI2F = 1H 200
= 100
Al 100
o4z sd us dxs
700,000& = 13l 700
= 350
Al 350
o4z sd s =24l
80,000& 309 2,400
= 1,200
Al 1,200
O=YIIAH o =ZHl 13,0008 * 200 2,600
= 1,300
Al 1,300
206 T 2 Hl 7,500 5,600 1,900
= 3,750
Al 3,750
01 =8l 7,500 5,600 1,900
CLEREE DS WaH|
70,0003 = 309H 2,100
= 1,050
Al 1,050
O=gJIH ¢tdN=E M=H 27,0008 » 200 5,400
= 2,700
Al 2,700
301 L2 A= 480 1,960 A 1,480
= 240
Al 240




2N 5YIls
HM: =HXSIE
oHelr SEXEAYR CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
09 HAIAHI EAZ 480 1,960 AN 1,480
OWHEZZE =sLIH s 344
8,0008 * 302 * 23] 480
2 240
Al 240
405 XHAHFE S HI 42,000 0 42,000
= 21,000
Al 21,000
01 XAt 2 ZF S| 42,000 0 42,000
onNEE=YIHKXNA 42,000
OsgE0oAaI 7Y 18,000,000& = 1CH 18,000
= 9,000
Al 9,000
OZ20 =2 #¢ 6,000,000 = 1CH 6,000
= 3,000
Al 3,000
OgECE)] 2 18,000,000& = 1CH 18,000
= 9,000
Al 9,000
S0l SN NS2Y NA(XN) 2,400 2,400 0
2 1,200
Al 1,200
307 2Iz2t0| A 2,400 2,400 0
= 1,200
Al 1,200
02 QIZHE AAIRE E X 2,400 2,400 0
O=s=NECk 8= 1,200,000& * 200 A 2,400
= 1,200
Al 1,200
SENESANY EF JIENE BE NV (NE) 7,400 7,400 0
= 3,700
Al 3,700
201 et 9| 1,400 1,400 0
=2 700
Al 700
01 AP 22| H| 1,400 1,400 0
O=UMSESAS HA 25
700,000& * 23| 1,400
= 700
Al 700
202 044l 6,000 6,000 0
= 3,000
Al 3,000
01 2Ll 6,000 6,000 0
Os=sZEdEANEESEG A
20,0008 * 252 * 12& 6,000




N s8II=
=R ESD EIE
el SEXES A (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 3,000
Al 3,000
N2 H2sHSAXA(ZHY) 25,776 60,728 A 34,952
= 12,888
Al 12,888
201 LB-2d| 7,000 16,300 A 9,300
= 3,500
Al 3,500
01 At 22l 7,000 16,300 A 9,300
OsgZId=oaedd 2,600,000& » 29H 5,200
= 2,600
Al 2,600
OSHZAHSUS 500,000& » 29H 1,000
= 500
Al 500
O RPN = 800,000& » 1H 800
= 400
Al 400
202 oddl 18,776 44,428 A 25,652
- 9,388
Al 9,388
01 = LH &4 1l 18,776 39,428 220,652
OsgZATS0IAH 0|
1,000,000 * 29 2,000
= 1,000
Al 1,000
OZEAsSWE (bl 300,000& = 29H 600
= 300
Al 300
OZEXAIAE Kbl 400,000&  1¥ 400
= 200
Al 200
OXN=s2d dEzsgiggs N& oyl
308,660% * 48% 15,776
= 7.888
Al 7,888
sE 24 SXAAAE(XE) 100,000 50,000 50,000
N 50,000
Al 50,000
307 glz2+ol & 20,000 10,000 10,000
Xl 10,000
Al 10,000
02 QIZtE A AHE X 20,000 10,000 10,000
O=20124 SXME MHAH
10,000,000& = 200 & 20,000
Xl 10,000
Al 10,000




2N
X ZH -
L= B
el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
402 BI2FX=01 M 80,000 40,000 40,000
Xl 40,000
Al 40,000
02 QI EASEZ (01X ) 80,000 40,000 40,000
OSE024 SNME A
40,000,000& 204 80,000
Xl 40,000
Al 40,000
SHES HMALD Ol MES 30,000 0 30,000
Xl 15,000
Al 15,000
402 Q12+t Xt=01 A 30,000 0 30,000
Xl 15,000
Al 15,000
02 QI EASEZ (01X TS ) 30,000 0 30,000
O=gas AL ole ME5
30,000,000& * 1JH2A 30,000
Xl 15,000
Al 15,000
SEPIE Y 331,040 339,570 £8,530
= 99,312
Al 231,728
sENTAY &S5 234,440 224,190 10,250
< 70,332
Al 164,108
201 Lt 2| 89,940 89,940 0
< 26,982
Al 62,958
NEETE 89,940 89,940 0
Otz sZEEX K& 120,0008 * 930 & 11,160
< 3,348
Al 7,812
O=sgolti sHdAIX N (=sGAMI)
40,000& = 1,2009H 48,000
< 14,400
Al 33,600
O=ZHH sHAEEX KA (4-HAZ)
20,000& = 3159 6,300
< 1,890
Al 4,410
O=sgolci sHdA2X NI (sHUMZ)
84,000& = 1709H 14,280
=3 4,284
Al 9,996
OMils&o Ad8uws Wi 24
5,000& » 1,500% 7,500
< 2,250
Al 5,250




2N
D SN

el

X ZH
S =

sol=dg X212

SYII =X &t

[undies Al

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OMil=2e dens Ne8E 7g
140,000 140
& 42
Al 98
OMllsgel A2Ns 2AISE(LE23) 2,560
[OPIE= 120,000 = 1AI2F = 1 = 83 960
< 288
Al 672
OFJt 100,000 * 2A12F » 1 * 83 1,600
= 480
Al 1,120
301 et A= 22,650 14,650 8,000
= 6,795
Al 15,855
06 212t01=2| (4 HI 8,000 0 8,000
OSYUITH HTSAIE HAHS
2,000,000 = 4% 8,000
= 2,400
Al 5,600
09 HAIAHI BEAZ 14,650 14,650 0
OMilsgol A2 N sABA
8,000& * 1,225H 9,800
o= 2,940
Al 6,860
O=sgolsstiges A8 A 4,850,000& 4,850
& 1,455
Al 3,395
307 2Iz2t0| & 3,150 3,150 0
o= 945
Al 2,205
02 QIZHA AAIE E X 3,150 3,150 0
OEsdU s& LS 3,150,000 = 10 A& 3,150
o=} 945
Al 2,205
308 XXIGHHM SO0l & 58,500 56,250 2,250
& 17,550
Al 40,950
10 B 2SO USEANDE AIS Y 58,500 56,250 2,250
OFE=sdol ADAIGNUAE 29
2,250,000 » 26H 58,500
= 17,550
Al 40,950
402 SI2F 20| ™ 60,200 60,200 0
= 18,060
Al 42,140
02 QX2 A E X (0| & THE) 60,200 60,200 0




AN sEIIsdE X200

FM: sHXAI=
Sl SIS XA (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
PEFEERIEEE N R Er e
22,000,000 * 1JHZ * 70/100 15,400
< 4,620
Al 10,780
O%s 4-HEl® B3 JIBRE XA
0,000,000& = 1JHA * 70/100 7,000
< 2,100
Al 4,900
OS8RS SIIIIXSA ML
50,000,000& = 1JHA * 70/100 35,000
< 10,500
Al 24,500
ONAEMTS M5 MIIT 23
2,000,000& = 2JHA * 70/100 2,800
< 840
Al 1,960
sENMseEG MllsEs 66,600 76,380 29,780
< 19,980
Al 46,620
201 LB-2E| 43,000 39,340 3,660
< 12,900
Al 30,100
01 At 2t 2l 43,000 39,340 3,660
OsEZQ MENSE 25 D20 AY 2
A== (22) 4,400
OPIE= 120,000 » 1AI2+ » 209 2,400
< 720
Al 1,680
OFJt 100,000& = 1Al2F = 20 2,000
= 600
Al 1,400
O=E04 BPAS 2S2 X
40,0003 = 9654 38,600
< 11,580
Al 27,020
206 M= Hl 5,600 6,480 A 880
< 1,680
Al 3,920
01 =8l 5,600 6,480 A 880
Os&2 MaHSH 23 Z28 Al
=] 14,000& * 20 = 203 5,600
< 1,680
Al 3,920
301 gErE L= 8,000 1,260 6,740
< 2,400
Al 5,600
06 BI2HRI =2 2| (4 HI 8,000 0 8,000
O=sZEWHXNEI oA 2,000,000& » 4H 8,000




AN sEIIsdE X200

g sgXEI=

Sl SIS XA CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,400
Al 5,600
402 SI2FXHE0| M 10,000 29,300 A 19,300
== 3,000
Al 7,000
02 SIZEXIEAISEX (0| XM THL) 10,000 29,300 A 19,300
OSE04 M)z SHY HY X8
10,000,000& = 1JH A& 10,000
& 3,000
Al 7,000
MII=E2 ALY &Hat 30,000 39,000 A9,000
& 9,000
Al 21,000
201 Bt 10,000 10,000 0
= 3,000
Al 7,000
01 AP 22| H| 10,000 10,000 0
OsJIH =32 g E22 HZ&
20,0008 = 5008 10,000
& 3,000
Al 7,000
206 M Hl 20,000 20,000 0
= 6,000
Al 14,000
01 X Z H| 20,000 20,000 0
OsJIH =32 s XN M2
200,000& * 100 20,000
= 6,000
Al 14,000
HHSHAY (XKD ) 1,386,217 1,243,926 142,291
ol 2 A 1,272,857 1,243,926 28,931
oled A | 1,272,857 1,166,742 106, 115
101 e1214| 1,272,857 1,166,742 106, 115
01 E4 280,170 259, 366 20,804
OAZte 22Y
10,443% » 662 * 30AI2F = 128 248,126
OSAUNAMXN EL22 LS (6YH)
9,010€ ~ 6% * 60 32,044
02 JIEtE 2 &%= 3,312 3,198 114
ONAAD24Y (AT E)
9,200& * 1¥ = 30AI2t = 1288 3,312
03 2INHAZ2 2 XNHE = 989,375 904,178 85,197
OZ2F2 2ol 4H| 898,935
o9s 468,037
-Jtg 138 Xt 26,515,680& * 14H 371,220




AN sIIsdH XA
M HY2AZH (X2 I& D)
el ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-Lt= 138Xt 24,972,120¢ * 2% 49,945
-Ot=2 138 Xt 23,435,880& » 29H 46,872
Oo=¢ 278,553
-IExg 12,480
i < Xt 40,000& = 109 = 128 4,800
JIEHILS 20,0003 = 32H » 123 7,680
—HEAI224(03)
17,9803 = 30AI2t = 14H « 123 90,620
—HEAI2LE(US)
17,0503 = 30AI2t = 2H » 123 12,276
—HEAI2LE(0UO3)
16,1703 = 30AI2t = 2H » 123 11,643
54224 (0132)
143,840& » 14%H » 25 50,344
-FoU2ag(U3)
143,8403 * 2H » 25¢ 7,192
-FoU2g(03)
129,360& * 2H » 25¢ 6,468
—AX S (It2) 95,9209 x 14Z x 20Y 26,858
“Ax=2(U3) 90,960 * 2% * 20 3,639
—Hx=2(0U3) 86,2403 * 2H » 20 3,450
“Zeag 70,000& = 18H » 12& 15,120
- EH =S 382,500 * 420 * 29 3,060
-2&522(0t=2) 110,480&3 » 149 = 12€ 18,561
2&522(U3) 104,050& = 28 = 123 2,498
2522(03) 97,640& * 2% « 128 2,344
-Jlg==g 150,000& = 18H = 43| 10,800
-BrE g 100,000& = 198 = 123 1,200
OZEFItHI 50,705
-Jt=a 1,436,260& » 14%H * 23] 40,216
-L= 1,352,650& * 2% * 23| 5,411
-t= 1,269,440& » 2% * 23] 5,078
O=&tl 150,000& = 18 « 12& 32,400
Oun &t 150,000& » 18 » 12& 32,400
OJHAX & HI 36,840
-t 175,000& » 14%H » 128 29,400
= 160,000& * 2% = 12& 3,840
-t= 150,000& * 28 = 12& 3,600
OMXHNEES 90,440
OHLEE= 898,935,000& * 3.06% 27,508
OFJIRYEE= 27,508,000& * 6.55% 1,802
O=8d=z 898,935,000& * 4.5% 40,453
OnE:d 898,935,000& * 1.5% 13,485
OMTHE A 898,935,000& * 0.8% 7,192




2N

sol=dg X212

M HY2AZH (X2 I& D)
& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl= &l 113,360 113,360
Jl=dl 113,360 113,360
201 Let24d] 41,916 41,916
01 At 22/l 41,916 41,916
OJl2ge=+d #sZH(01E=24l)
500,000& = 214H 10,500
CEELIE/ES=11p)
8,000& * 22H « 8¢ » 12& 16,896
(©F=Fya] 60,000& = 119¢ 7,140
O==HI|(HeH) 30,000 * 246 7,380
202 odl 57,024 57,024
01 = LH o4 1l 28,224 28,224
o=uoidl (J1=34l)
20,0003 » 9 = 8 » 12&  80% 13,824
O&2| o dl 80,000& = 2 * 3g * 303l 14,400
02 M0 28,800 28,800
OXZJI&l FHNYI
200,000& = 10¥ » 123 24,000
OsZareEa AN
200,000& = 2¥ « 123 4,800
203 YR =&l 14,420 14,420
01 JI122E YR =4 6,000 6,000
OJNEAH(42) 6,000,000& » 1H 6,000
02 et = AH| 3,320 3,320
OJI&EH(100¥ NHXI) 40,0003 = 834 3,320
04 FNS2ELRZ=TH 5,100 5,100
QI &= 5,100
O30¢! Ol ot 400,000& = 123 4,800
o302 =t 5,000& * 5% = 12& 300
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EX: sgIIsde D=2
MM sHI) =23
el HeaAIMAY (sl &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 A2 I 3,500 3,500 0
Os2o AN B0 SHE B8
350,000& = 103 3,500
301 Bt A= 1,800 1,700 100
09 SHAIAHI EAZ 800 700 100
OASXMZ2 S HEIIg EHAX SAH|
8,000 * 100 800
11 JIEtE A= 1,000 1,000 0
OYolE WEY 29 Ba=2 5004 « 2,000m 1,000
402 SI2F X0l & 340,100 263,000 77,100
01 It E A E X (M) 340,100 263,000 77,100
O 2=&10} 20t THHHS X AlY
31,600,000& * 102 31,600
O MAXZHEH J=Xe Z2HMH HE AEY
10,000,000 * 200 £ 20,000
O&0A S 02 s&=S HEMA I AY
15,000,000& * 5JHA = 70/100 52,500
OXNNMEY BcHEM HESE2AH AIY
32,500,000& * 102 32,500
OKRSAMAN HAHS HDSE A MACI =X
S AY 60,200,000& * 102 60,200
OESMNS Ms ¥ Ussd X4 AlY
10,000,000 * 1JH A 10,000
OdlY QAT MAF AJHIE 2 AlY
15,000,000 * 1JH A 15,000
OAlMeEM MA . JIZCX] A AlY
10,000,000& * 2J0A = 70/100 14,000
OH S MEME Jls E2AY
3,000,000 = 10JH2 = 70/100 21,000
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& 4,200
Al 9,800
OH NS & M35 THHHAI Y
20,000,000€¢ = 1JH2 = 70/100 14,000
& 4,200
Al 9,800
Odt+=2 &SNS AMETE AlE
20,000,000€¢ = 1JH2 = 70/100 14,000
& 4,200
Al 9,800
HH2HAL (JIz=220) 61,658 54,921 6,737
JlE&ddl 61,658 54,921 6,737




N sIIsdH JisE22H

M HER2GFYOIsE3)

& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JlE&l 61,658 54,921 6,737

201 £B-2d| 20,618 16,361 4,257
01 At 22l 20,288 16,064 4,224
OJl2ge+d #sZ2H(01F24l)
500,000& = 169H 8,000
o=sgs (OIE3Hl)
8,000& = 16 * 8¢ » 12& 12,288
02 =224l 330 297 33
oOfERS 300& = 1,100 330
202 oddl 37,440 33,120 4,320
01 = LH o4 1l 3,840 4,320 A 480
O=UWAHI(JIEZHl)
20,0003 = 2% = 8 » 12& 3,840
02 M| 33,600 28,800 4,800
O ML (DI=E231)
200,000& = 10 = 122 24,000
OFUNHI(SHAE D)
200,000& = 49¥ « 12& 9,600
203 YR =&t 3,600 4,840 A 1,240
04 FN2ELRZ=TH| 3,600 4,200 A 600

O©JIZE A (2021 0l5t) 300,000& » 12& 3,600




20188 & 20

[¢]

AF

(i}

I

BRI seEOIsdE XNEAIIEHY ~ 58D

W

A

AN sEIIsdEH SRS Y
i ARONY
Sl HRHE R Y (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sYI|l=dH ALY D 6,783,910 12,232,207 A5,448,297
= 1,158,500
Xl 150,000
< 285,300
Al 5,190,110
Ao 6,730,398 12,076,395 A5,345,997
= 1,158,500
Xl 150,000
< 285,300
Al 5,136,598
A= d 25,780 16,934 8,846
SN EARE 25,780 16,934 8,846
201 2et24d] 7,260 7,134 126
01 At 22l 6,000 6,000 0
OsgolagAaA2dl
100,000& » 54 « 12& 6,000
02 2324l 1,260 1,134 126
OYSHEX L& LW
300& = 350 = 12& 1,260
301 et a3z 11,200 9,800 1,400
09 HALAHIEA S 11,200 9,800 1,400
OsYoINTLRY SARY
8,000& * 200 » 70 S¢S 11,200
405 TtabF S 7,320 0 7,320
01 AL EFFHSHI 7,320 0 7,320
Oddusdoadgazd I+ 4,170
OAREXHARA) 300,000& * 104 300
O4mM(12/&) 500,000& = 24 1,000
O£ TH(32!) 800,000& = 204 1,600
Oz 300,000& * 1K 300
Oo0lsa M 200,000& = 124 200
OY&1(300¢ Olat) 700,000& * 1CH 700
OdZEIN(AHEH) 70,000& = 1CH 70
OJNEHsHAMEARE FH P 1,200
O0IsAMEHE 200,000& = 14 200
(O=) 300,000& * 1K 300
OY&1(300¢ OlatH) 700,000& = 1CH 700
odedisgelagazy 7Y 700
OY&1(300¢ OlatH) 700,000& = 1CH 700
OFUsgelagazyd 7Y 1,250
O=2E oKX 150,000& * 3H 450
O4I (32 8) 800,000& * 124 800




AN sEIIsdE AFHED
I AFME
Helr sgAFNE

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

SgAFHE

n= H

= H

5,385,236

1,061,000
150,000
256,800

3,917,436

10,326,774

A4,941,538

=St

Ao =SB AMHIAKACT X4

= W

3,400,000
856,000
256,800

2,287,200

9,600,000

26,200,000

403 A X HHSH=0lA

= W

3,400,000
856,000
256,800

2,287,200

9,600,000

26,200,000

[ AXASHAELE AEAY

1,712,000,000& * 1JHA

ORI SCLASEMEIAXNIHRNES KAEAY

) 1,688,000,000& * 1JH=

= M W

3,400,000

1,712,000

856,000
256,800
599,200

1,688,000

9,600,000

26,200,000

H

Al

200,000

100,000
100,000

200,000

401 A& H

o
I
o
=

H

Al

200,000

100,000
100,000

200,000

01 Al&EH

OUstEsASEALNA

200,000,000& = 100

H

Al

200,000

200,000

100,000
100,000

200,000

AMESsXNIMATRS

H

Al

210,000

105,000
105,000

210,000

401 AIEHIZ 2 THYI

H

Al

210,000

105,000
105,000

210,000

01 A& HI

OANIESY HAE

H

Al

210,000

210,000

105,000
105,000

210,000

Xl
Al

300,000

150,000
150,000

300,000

401 AIEHIZ 2 CHYI

300,000

300,000




FA: sgIIsdH HFNY D
M ol pofy
Sl SejeiTope CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 150,000
Al 150,000
01 A& HI 300,000 300,000
OsEXNToletx s 300,000,000 100 300,000
X 150,000
Al 150,000
FIl=s=HN2E 566,979 566,979
101 1A dl 53,229 53,229
M4 JI2ZHZEXNSES 53,229 53,229
FIs=gHl 29 o2 53,229
OJIZtH 22Xt 48,362
-orE 66,4303 * 4% « 26 » 73 48,362
OCHZ=2E = 48,362,000& = 3.06% 1,480
OWIAEEE 1,480,000& * 6.55% 97
O30z 48,362,000 * 4.5% 2,177
CnE:LE 48,362,000& = 1.50% 726
Ot EE 48,362,000& = 0.8% 387
201 LB-2E| 480, 140 480, 140
01 At 2t 2l 1,800 1,800
ORIls=gci I=Hl 1,800
oxgs 60,0003 = 10H =« 23| 1,200
O F 3t 60,000& = 10 « 13 600
02 =224l 478,340 478,340
ORIN==SEHA IS (=58E) 92,441
OJlez 1,210& = 850kw » 12& 12,342
(OFSIPNE= =3 40.9&3 * 163,200kw » 12 80,099
RN =SSR Qa3 (LEHE) 150,079
oJlgg 8,320& = 950kw » 6 47,424
(OFSIPNE=3= 93.8& = 182,400kw * 6& 102,655
Flls=8Hll S22 1,200
Osdald MEZ 100,000& * 128 1,200
RllssgHil 4ot=Ee23
4,500,000& = 12& 54,000
O=Ro AL 84U 600,000 = 12& 7,200
ORIIs=&EHX L A=Y 28,292
OZ% 1,286& = 22,000L 28,292
ORIIs=SEEX o] REES
142,628,000 142,628
ORJls sJIH ZH SEEE=
250,000& = 10CH 2,500
405 RHoHE S HI 33,610 33,610
01 AL ESFHSH 33,610 33,610




SH SYIEHE AR
HE: o pope

Sl SejeiTope (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oxsg eIl 5,000,000& =« 3CH 15,000
ORJIIs=EEHX 28 AMREH| 18,610
OANREBHA(ARI) 200,000 = 54 1,000
O0lsAMEZ 200,000& = 54 1,000
OANREXHARA) 300,000 = 54 1,500
Oersad=H 1,400,000& = 5JH 7,000
O=zA 300,000& = 204 600
O2 MM DI 1,000,000 = 1CH 1,000
OZelH (A3 =2el) 3,500,000& =« 1CH 3,500
OzlosHols 200,000& = 104 200
Ozl Xt 150,000 = 6IH 900
OHE (5004 0l4t) 1,000,000& * 1CH 1,000
O MIE DI 910,000& = 1CH 910
I =0HAEHNH AW 4 14,250 0 14,250
201 Let24d] 9,450 0 9,450
01 At 22l 9,450 0 9,450
ORII=sOHIHEHEE oM ] ZAZ(12) 1,850
oJl& 250,000& = 1AI2F * 53] 1,250
O=Dt 120,000& * 1Al2F * 53] 600
ORII=0HHEME E2AM s WHHME
13,000& = 40& =« 53| 2,600
ORJII=0HAEHE EAM S8R AS HA A
= 500,000& =« 103l 5,000
301 gt 4= 4,800 0 4,800
09 HALAHIEA S 4,800 0 4,800
ORIIsOHAHEEH AN NS 424
8,000& = 40 = 153 4,800
soiginae 257,814 326,671 68,857
101 @14 dl 19,413 48,289 AN 28,876
04 JIZHHZ2XRHESE S 19,413 48,289 N 28,876
Otl=g A5 HEoteA 29 202Y 19,413
OJIZtHZ22 X 12
66,4303 * 1% = 262 » 10& 17,272
O% & Fotdl 200,000& = 1H =« 23| 400
OFaR= k= 1= 17,272,000& * 3.06% 529
OIQYEE= 529,000& * 6.55% 35
O30z 17,272,000& * 4.50% 778
ons=sdg 17,272,000& * 1.50% 260
OtHEE 17,272,000& * 0.8% 139
201 et I H| 36,761 45,862 £9,101
01 At 22/l 12,920 12,920 0




AN sEIIsdE AFHED
I AFME

S sPHAINLY (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Odtlsg ARAL DItz Xz
550,000& =« 10CH 5,500
ObtlsgHT HEGIRA A2 HEME
30,000& = 1004 3,000
Os=sYAEAL2ed OI=Hl 1,120
oxgs 60,0003 = 4H « 23| 480
O F 3t 60,0003 * 4% « 13| 240
Ogsts 100,000& = 4H « 13| 400
OANEAZAE EE2H| 30,000& = 1004 3,000
OAEATZAY SEEIIS AHR 22l
3,000& = 1009 300
02 =224l 23,841 32,942 29,101
ONEY 917 HUGRA LAY (ZR)
1,286& = 10,0004 12,860
Otsg 3 HHotRA AIZEH {XH
1,000,000& * 10& 10,000
OXNYsYHLAsSE IFH R=FH 981
O3gs 1,498 * 200L 300
OZ= 1,286% * 400L 515
Os® 8273 = 200L 166
203 PR =&l 1,000 1,000 0
03 Al =X A2 =& 1,000 1,000 0
O=sgd2NY d2F 1,000, 000& 1,000
206 M= Hl 55,000 55,000 0
01 = bl 55,000 55,000 0
OXNYsgHY 452 2EME
200,000& * 503 10,000
OXNIAAAMNLAY AMEWE
400,000& = 50& 20,000
Odtl=g A4 FEoteA HEl
1,000,000 * 25& 25,000
301 L2 S 640 560 80
09 HALAHIEA S 640 560 80
OANEAZAY SEEI SALE
8,000&  80H 640
401 Al I 28I 100,000 100,000 0
01 A& HI 100,000 100,000 0
QNS sASEAA Il H 60,000,000 60,000
O, RA=, Xd+ 5 AT 40,000,000& 40,000
402 RI2EX=201 M 45,000 72,000 A 27,000
01 2I2E 2 A B (KA ) 45,000 72,000 A 27,000
O=YST T ASAE
30,000,000& * 1JH 2 30,000




AN sEIIsdE AFHED
I AFME

Sl YA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMASES e ASAE
15,000,000& * 1JH 2 15,000
DlME MMEZ(RE,08) 436,193 250,593 185,600
101 @14 Hl 97,586 61,229 36,357
04 JIZHHZ2XNHEE S 97,586 61,229 36,357
ONldEg MaEZ A2 (RE, 1Y) 97,586
Oy 66,4303 * 5% + 26¢ » 103 86,359
OZFE=FItHI 200,000& = 5% « 23] 2,000
OHLEE= 86,359,000& * 3.06% 2,643
OFJIRAEE= 2,643,000& * 6.55% 174
O=8d=z 86,359,000& * 4.50% 3,887
OnE:Ed 86,359,000& * 1.50% 1,296
OMTHEH 86,359,000 * 1.42% 1,227
201 Let2d] 100,227 38,514 61,713
01 At 22l 21,400 12,450 8,950
ORE0IMES Mo EF 3,000
OWuM & 228 MA 400,000& = 2& 800
Olld=s ZAMEA 35,000& = 208 700
Olld=sa S 90,000&  109H 900
Olld=4 otd5 60,000& = 10¥ 600
ORE0M= I FA2EHH|
500,000& * 63l 3,000
ORELEIME 3RELY HIIEHH
400,000 = 33 * 2004 2,400
ORE0IME FRELY M2EA
1,000,000 = 13l 1,000
ORE1NEOIIME BHLDI EII&ZZHI
1,000,000& * 43 * 2044 8,000
ORELEOY=Y 2 AR 22/l
500,000 = 43 = 2004 4,000
02 232gHl 78,827 26,064 52,763
ORELNEOY=E FHIRX E=H|
2,000,000& * 103 * 2042 40,000
ONENMSHAY 2E HIIAMNER 17,993
QHIIANEBE2 (MY E)
8,320& = 80kw » 12& 7,988
OdIINER 119.10& = 7,000kw * 12& 10,005
ORELEO Y=L RFH|
1,286& » 9002IH * 1823 20,834
206 M= Hl 230,480 148,350 82,130
01 MHZ 4l 230,480 148,350 82,130
OR=0I42 HHXl M=4l
220& = 550,0002I H 121,000




2N

SYIl=dg AR

Y AR
Sl YA SERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXNE0IM= HIXl M=l
2,300& * 33,600kg 77,280
oZ2=z2dcet Xl 24l
27,500 * 35 = 404 3,850
(©F-E=3nk=1] A TH2 (D1 E)
90,000& x 455 = 73| 28,350
405 XHA&HF S HI 7,900 5,400
01 XA 2 ZF S| 7,900 5,400
O=2=2 & e} Hyxal 7,900
OHbHDI (604 ) 1,450,000& = 404 5,800
ODM=D| 1,500,000& = 1CH 1,500
oy 430 300,000& = 2CH 600
gel2s X 525,831 493,146
= 17,500
= 7,500
Al 500,831
SEEAA2IENE 35,000 35,000
= 17,500
Al 17,500
101 e1214| 33,320 33,320
= 16,660
Al 16,660
04 J|2tH 22 Xt 33,320 33,320
OEAXN o el 31,403
oorge 2« 28 x 262 x 8& 27,635
= 13,818
Al 13,817
OY &I 200,000& = 2% * 23| 800
= 400
Al 400
OHLdEE= 27,843,000 * 3.06% 852
2 426
Al 426
O&ILEE = 1,692,000& * 3.275% 56
= 28
Al 28
Oo=281H3 27,635,000& * 4.5% 1,244
= 622
Al 622
(@E=2h= 27,635,000 * 1.5% 415
= 207
Al 208
OMTHEE 27,635,000€ * 1.45% 401
= 200
Al 201
oYy Y AMA=sHAMEH AAX™ L AIZF 2
29 1,917




AN sEIIsdE AFHED
I AFME

el gelas e (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ooy 66,430 * 1H * 262 * 13 1,728
= 864
Al 864
OHZEdE= 1,728,000& * 3.06% 53
= 07
Al 26
OEIQYSH 106,000& * 6.55% 7
= 3
Al 4
o383 1,728,000& * 4.50% 78
= 39
Al 39
onssg 1,728,000& * 1.50% 26
= 13
Al 13
OtHEE 1,728,000& *1.42% 25
= 13
Al 12
202 O4dl 1,680 0 1,680
= 840
Al 840
01 = LHA YI 1,680 0 1,680
OELAZMH bl 20,0003 * 498 » 21« 1,680
= 840
Al 840
2o Y 23 15,000 15,000 0
= 7,500
Al 7,500
201 YEr2 Y| 7,470 11,950 A4, 480
= 3,735
Al 3,735
01 At 22l 7,470 11,950 A4,480
OO0lchst 2030 s SAsE 5,970
OJ12(deH3) 230,000& = 1AI2F = 3™ 690
< 345
Al 345
Ox=1(LeH=z) 120,000& = 3Al2F » 3Y¥ 1,080
< 540
Al 540
OJle(derez) 120,000& » 1AI2+ » 10H 1,200
< 600
Al 600
O=x=1(Ler2z) 100,000 » 3AI2+ » 10H 3,000
< 1,500
Al 1,500
OO0lcHat 2F012H0I0I nEXE X2
500,000& * 33 1,500
< 750




AN sEIIsdE AFHED
I AFME

& geles X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 750
206 M= Hl 1,770 1,930 A 160
< 885
Al 885
01 =8l 1,770 1,930 A 160
OO0lcHitd 2FO0IH0I0I s AsSME
14,7503 = 40H =« 33| 1,770
< 885
Al 885
301 g4 = 5,760 1,120 4,640
< 2,880
Al 2,880
09 HAAHIEA S 960 1,120 A 160
OO0lcharet 2F019tdI0l | 244l
8,000& = 40 =« 33| 960
< 480
Al 480
11IIEEAS 4,800 0 4,800
O0lcHity 2FE0IHMI0l 2+sZ ASE 4
20,0003 = 40H =« 63l 4,800
= 2,400
Al 2,400
e sMH A2 St 257,722 281,622 A 23,900
101 @14 Hl 58,572 75,037 A 16,465
04 DI Z2XREE S 58,572 75,037 N 16,465
OEYLIE L ANEMHF 2 39,047
Oy 66,4303 * 2% * 262 » 103 34,544
OZE sItdl 200,000 = 29¥ « 23] 800
OAHd=2E = 34,544 ,000& * 3.06% 1,058
OFIAEER 1,058,000& * 6.55% 70
O=0d=z 34,544 000& * 4.50% 1,555
OCneE:d 34,544 ,000& * 1.50% 519
OuTHEH 34,544,000& = 1.45% 501
oMM AZMHFA £ SEHAE UFRY 19,525
OJIZtHZ2Z2 X 1Y
66,4303 * 1% = 262 » 103 17,272
OHLEE= 17,272,000& * 3.06% 529
OFIAEERE 529,000& = 6.55% 35
O=8d¢3 17,272,000& * 4.50% 778
CnE:LH 17,272,000& * 1.50% 260
OMTHEH 17,272,000& * 1.45% 251
O%& sotdl 200,000& = 1H « 23| 400
201 LEr2 Y| 34,150 33,685 465
01 At 22l 15,000 17,200 A 2,200




2N 590

SHlE HRONE

Ha: AR
Sel: gol2s N CERED
o
SN FH-SA(EN) - MBAY - BES e HlnE2
OELZFA HAHKelHI 550,000& * 8& 4,400
OEAZIA HAISE Xelbl
300,000& = 103l 3,000
oxZEH 2l HAHHH 550,000& * 2& 1,100
OB YSAY 22T S+ABAT
100,000& = 5% = 12l 500
oxyEI=EH 1,050,000& * 23| 2,100
OELYHAE2Y AR22ldl 100,000 * 208 2,000
OELZFH Hg= 90,000& * 64 540
OE2HdZFAY X3t 60,0003 * 64 360
ouEzTEacld 2E AMR2elH]
100,000& * 108 1,000
02 =24l 19,150 16,485 2,665
OEAZFA HHI KX HI 350,000& * 25& 8,750
oxEZaaca HEHSXAH  300,0008 * 258 7,500
Ogdis S HH R HI
200,000& * 53 1,000
OELHZAH HEN KBRS
300&  3,000A 900
oOZJI22d FHRXH 200,000& * 53 1,000
206 M= Hl 47,000 47,000 0
01 M= 4l 47,000 47,000 0
OELZFLY 22 M= 300,000& * 30& 9,000
onsHacY 2 ME 800,000& * 408 32,000
ogNsSEANCY 2% W=
150,000& * 208 3,000
OZI=22d 2= 100,000& * 30& 3,000
401 Al HIZ 201 8] 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OoOxAMH LA g=2gs HE=>
20,000,000 = 10024 20,000
402 RIZEX20l A 98,000 94,000 4,000
01 2IZEXH 2 A B (KM TH &) 98,000 94,000 4,000
OLIF=E ME AE3F Iz 2SAE
25,000,000% * 2JHZ * 80/100 40,000
OZMIHZE0E UMHFT SESH ASAE
60,000,000% * 1JHZ * 80/100 48,000
OLNF0F ERoIRA BXRuE A3 ASAE
5,000,000& * 242 10,000
BEYsALSY 218,109 218,355 1246
101 14 Hl 97,387 98,458 A 1,071
04 JIZHHZ22XEE S 97,387 98,458 A 1,071
ONF0t RPEIHY X SA UFY 77,867




AN sEIIsdE AFHED
I AFME

el gelas e (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OJIZtH 22X o8
66,430 * 49 * 262 ~ 10 69,088
OAnAdEEZ 69,088,000& * 3.06% 2,115
OIRLYEEZ 2,115,000& * 6.55% 139
O=01H= 66,088,000& * 4.50% 2,974
(@ME=1=8--! 66,088,000& * 1.50% 992
OMMES 66,088,000& * 1.45% 959
OY9 & SOyl 200,000& * 49 = 23| 1,600
O=2sdHFa L 2IANEHE AR 19,520
OJIZtH 22X o158
66,430& * 1Y = 262 * 10& 17,272
OHZdEE= 17,272,000& * 3.06% 529
O&IIYEE = 529,000 * 6.55% 35
O=01H= 17,272,000 * 4.50% 778
onEeEs 17,272,000& * 1.50% 260
OMMEES 17,272,000 * 1.42% 246
OY ZE =t 200,000 * 1Y€ = 23| 400
201 L2 | 46,972 26,747 20,225
01 AtSR 22l b 19,160 11,750 7,410
OZXZHI Al AFR2t2l ] 100,000& = 20= 2,000
OXAHLA 2 &S 90,000& = 39 270
OXXHI LA 29 HHS 60,0008 * 3H 180
OXAHAA 2H ASHI(LPGIHA, ASE)
100,000& * 53] 500
O2sMOoIL el BES H&
100,000& = 103 1,000
O2sMOoIL JHxl 42 H&
70,0008 * 3= 210
O2FMOILE JHE 2ZA=E(2EHZ) 1,400
[OPIES 230,000 * 1AI2F » 4H 920
O=x=1 120,000& * 1AI2t = 4H 480
OMUFAY HEMAMAARA2A AR22IH]
100,000& * 158 1,500
OZXZ U & HHX ] 550,000& * 2& 1,100
OXZHIY 2 HIOIA HAHIES
100,000& * 108 * 23| 2,000
O=2z1U=E oIt & 450,000€¢ * 20= 9,000
02 53294l 27,812 14,997 12,815
OZXX & EHl =X 500,000& = 12& 6,000
O=3st24 N4 |XH| 500,000& * 103 5,000
ORE25HITA HEHISXH 250,000& * 43 1,000
OXZUY =3ta SERH(ESR)
1,286& = 10,7402l & 13,812




AN sEIIsdE AFHED
I AFME

e gele2s I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZHNY Snd 980 o &8s 1Al
2,000,000& 2,000
206 M = Hl 48,750 46,300 2,450
01 XHZ H| 48,750 46,300 2,450
OXAU LA 29 M= 400,000€ * 87= 34,800
2ZAH0ILE HEl 29 MME 150,000 * 5= 750
ONYSIZY HgMs HPa 29 W2
80,0008 = 75= 6,000
OKRE2E4 24 M 120,000& * 60= 7,200
401 AlEHIZL 2 0HY| 25,000 0 25,000
01 Al&H| 25,000 0 25,000
oz2sT=24X 15,000,000& = 1JH 2 15,000
oO=g 24 HHAIAE &X
10,000,000& = 1JH 24 10,000
SHSII26d =M 793,551 713,710 79,841
= 80,000
=} 21,000
Al 692,551
sHAMII=AH- 100,000 75,000 25,000
= 50,000
Al 50,000
402 12t X0l & 100,000 50,000 50,000
= 50,000
Al 50,000
02 X2 A E X (0| & THS) 100,000 50,000 50,000
ONELX NWalx= HMXED=s E3AHY
50,000,000& * 1JH2A 50,000
= 25,000
Al 25,000
OHicl® JIE2 423 AlY
50,000,000& * 1JH 2 50,000
= 25,000
Al 25,000
s&SIHSIls B3 NE 40,000 0 40,000
= 20,000
Al 20,000
201 et Y| 9,800 0 9,800
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